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BACHELOR’S DEGREE PROGRAMME

Term-End Examination
December, 2010

ELECTIVE COURSE : POLITICAL SCIENCE

EPS-02 : GOVERNMENT AND POLITICS IN
INDIA "
Time : 3 hours Maximum Marks :100
(Weightage 70%)

Note :
(i)  Section-I - Answer any two questions.
(i) Section-II - Answer any four questions,
@iii) Section-III - Answer any two parts of Q. No. 13

“SECTION -1
Answer any two of the following questions in about
500 words each. Each question carries 20 marks :
1.  Examine the Political Institutional perspective of
studying the Indian state.

2.  Discuss main areas of conflict in the Union - State
relations.

3.  Discuss the factors responsible for the decline in
the role of the Parliament in India.

4.  Analyse the social base of India National Congress.
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10.

11.

12,

SECTION - II

Answer any four questions in about 250 words
each. Each question carries 12 marks :

Discuss the nature and characteristics of
Jharkhand movement.

Analyse the nature and importance of secularism
in India.

Discuss the right of constitutional remedies as
provided in the constitution of India.

Write a note on the farmers movements.

How does parliament exercise control over the
executive? Discuss.

Discuss in brief Hamza Alavi’s views on the post-
colonial nature of the Indian state.

Describe the suggestions of Sarkaria Commission
with regard to the appointment and functioning
of Governor.

What do you understand by Nehruvian model of
development? Explain.
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SECTION - III

13. Write short notes on any two of the following in
out 100 words. Each carries 6 marks :

(i) Prime Minister’s office.
(ii)  Social roots of repression.
(iii) Public Interest litigation.
(iv) Fundamental Duties.
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